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Probability (2004)

é. (20 %) Let ¥ follow N(x,0*) and U follows the exponential
distribution with parameter 4. Answer the following questions.

(i) (10%) To find the probability Pr(U 2 a) for a given value a, we
need only a calculator. Why?

(i) (10%) We cannot use a non-programmable calculator to find the
probability Pr(¥ > a) for a given value a. Explain why not?

’Z (30 %) Let random variable [/ ; follow the exponential distribution with
parameter A, =i and all U/ ’sare mutually statistically independent,
where i=1,2. Answer the following questions.

(i) (15%) Let U™ =min{l/,, 2U,}. How are we going to find
the distribution of U™ ?  Give the distribution of U™ if
you can.

(i)  (15%) Let U™ = Max{U,, 2U,}. How are we going to find
the distribution of L/™ 9 Give the distribution of U™ if

you can.




